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QUESTION 1

Why do you use associations in your persistence model for SAP HANA extended application services, advanced model
(XS advanced)?

A. To enforce database-level constraints

B. To set relationships between multiple contexts

C. To define multiplicity and key of an entity relation

D. To define the relationships between contexts and views

Correct Answer: B

QUESTION 2

A user is dropped with the "cascade" option. The user schema also contains objects owned by other
users, or on which other users have privileges.

What happens to the objects? There are 2 correct answers to this question.

A. The objects owned by other users are NOT dropped.

B. The objects owned by other users are dropped.

C. The objects on which other users have privileges are dropped.

D. The objects on which other users have privileges are NOT dropped.

Correct Answer: BC

QUESTION 3

In an SQLScript procedure, which feature do you use to initialize IN/OUT table parameters?
A. IS_EMPTY

B. DEFAULT EMPTY

C. DEFAULT

D. SET

Correct Answer: B

QUESTION 4
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You work on a multi-target application that uses the SAP HANA Deployment Infrastructure (HDI). Which operations can
you perform in the SAP Web IDE for SAP HANA? There are 2 correct answers to this question.

A. Create objects in the SAP HANA repository.

B. Choose the supported SAP HANA versions.

C. Configure the artifact namespaces.

D. Deploy HTML5 modules to the SAP HANA database.

Correct Answer: AD

QUESTION 5

In your UI5 application, you need to refer to an SAPUI5 core library that is available on your SAP HANA
extended application services, advanced model (XS advanced) server.

Which files must you adapt?

Note: There are 3 correct answers to this question.

A. EH metadata.xml

B. mta.yaml

C. index.html

D. xs-app.json

E. manifest, json

Correct Answer: BCD

QUESTION 6

You want to exclusively use declarative logic in an SQL Script procedure. Which of the following operators can you use?
There are 2 correct answers to this question.

A. IF condition

B. MAP_REDUCE function
C. TABLE variable

D. COMM IT statement

Correct Answer: BC

Latest C_HANADEV_16 Dumps | C_HANADEV_16 VCE Dumps | C_HANADEV_16 Exam Questions 3/6


https://www.pass4itsure.com/c_hanadev_16.html
https://www.pass4itsure.com/c_hanadev_16.html
https://www.pass4itsure.com/c_hanadev_16.html

. VCE & PDF https://www.pass4itsure.com/c_hanadev_16.html|
a 2024 Latest passditsure C_HANADEV_16 PDF and VCE dumps Download
_ PassditSure.com

QUESTION 7

Which of the following joins can be defined only with multi-column join in calculation views? Please choose the correct
answer.

A. Temporal join
B. Dynamic join
C. Text join
D. Multi join

Correct Answer: B

QUESTION 8

Which metadata declarations can you specify in an SQLScript procedure when you use the SAP HANA
Deployment Infrastructure?

Note: There are 2 correct answers to this question.

A. Authorization

B. Default schema

C. Security

D. Language

Correct Answer: CD

QUESTION 9

Which development environment does SAP recommend to develop an SAP HANA extended application services;
advanced model (XS advanced) multi-target application?

A. SAP HANA studio

B. ASAP development tools

C. SAP web IDE for SAP HANA

D. SAP HANA Web-based Development Workbench

Correct Answer: C

QUESTION 10

To perform a specific task of an XS advanced application, what does a user need? Please choose the correct answer.
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A. To have directly assigned a Scope

B. To have directly assigned a Role Collection
C. To be assigned to a Space

D. To be assigned to an Organization

Correct Answer: B

QUESTION 11

For what do you use the RESIGNAL statement in SQLScript?
A. System exceptions

B. Specific SQL error codes

C. Generic SQL exceptions

D. User-defined exceptions

Correct Answer: D

QUESTION 12

You implement an asynchronous Node.js service which sends requests to the database. How do you handle the
database responses? Note: There are 2 correct answers to this question.

A. Process the callback methods in the order in which the requests are returned from the database.
B. Process the callback methods in the order in which the requests are sent by the service.

C. Call a method directly after every send request.

D. Register a callback method for every sent request.

Correct Answer: AD

QUESTION 13

Which join type is NOT supported by join optimization (pruning)? Please choose the correct answer.
A. Text Join

B. Referential Join

C. Outer Join

D. Inner Join
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Correct Answer: D

QUESTION 14

What are the characteristics of SAP HANA calculation views? There are 2 correct answers to this question.
A. Need database tables to execute

B. Need an application server to execute

C. Do NOT need an application server to execute

D. Do NOT need database tables to execute

Correct Answer: AC

QUESTION 15

An OData service contains an entity set called Products. Which resource path do you add to the OData service URL to
view all available products?

A. /Products

B. /Products/"

C. /Products/ALL

D. /Products/$metadata

Correct Answer: A
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